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All Candidates' performance across questions
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Question Title N Mean Max Mark Attempt %
1(a) 1007 1.1 0.7 2 53.8 99.9
1 (b) 988 4.5 2 8 56.1 98
1 (c) 997 3.8 1.7 8 47.6 98.9
1 (d) 1005 1.9 1 4 47.5 99.7
1 (e) 1005 4.9 2.2 8 60.8 99.7
1(f) 1004 5.7 2 10 57.4 99.6
2 (a) 1004 4.1 2.1 8 51 99.6

2 (b) (i) 997 1.2 0.8 2 58.6 98.9
2 (b) (ii) 1004 5.5 1.9 8 68.9 99.6
2 (c) 1005 6.2 1.8 10 61.8 99.7
2 (d) 995 6.6 2.6 12 55.4 98.7
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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1 (c) | Using the concept of marginal utility, discuss the extent to which replacing a
fixed charge for water with water meters in a home will reduce water

consumption. [8]
Band AO2 AO3 AO4
2 marks 2 marks 4 marks
3 4 marks

Excellent evaluation.

Theory is used to build an
effective counter-
argument and the answer
comes to a plausible and
well-supported

judgement.
2 2 marks 2 marks 2-3 marks
Good application. Good analysis. Good evaluation.

Context of water is used Marginal utility has been Theory is used to build an

well throughout the well used to explain why effective counter-
answer, refers to both water consumption is argument.
metered and non-metered | likely to fall

households.

1 1 mark 1 mark 1 mark
Limited application Limited analysis. Limited evaluation.
Application to water Marginal utility has been Counter-argument is
consumption is limited used to some extent to present but not well
and not convincing. explain why water developed.

consumption is likely to
fall.

0 0 marks 0 marks 0 marks
No valid application. No valid analysis. No valid evaluation.

Indicative content:

Marginal utility measures the extra satisfaction gained from consuming one more unit of a
product.

Water meters charge per unit of consumption and thus water becomes like energy (gas and
electricity) which are metered. In theory, rational consumers will become aware of charges
being linked to consumption and will control their consumption.

Fixed charges for water linked to rateable value mean that households will consume water
up to the point where marginal utility = 0.

The water charge is unrelated to consumption; thus, households will consume more water
than with a meter.

Any response is likely to take time — it takes a while to roll out the programme and
consumers may take time to respond to metering.

Many households already have meters and they are fitted into new builds as standard.
Note — answer is reversible.

Low PED (but needs to be well contextualised).

3

© WJEC CBAC Ltd.
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Clear understanding of how a fixed charge might affect consumption - not linked to marginal utility, but AO1 here.



AO2: 2 - shows understanding of how a use of water meters will affect consumption. Some issues with terminology (price vs cost) but the meaning is clear enough.



AO3 - awareness that marginal utility represents the benefit that consumers ger from the product and that this will need to be above the cost to the consumer. (MC is bod here because the standard of answers to the question was so poor.)



Now attempts to apply marginal utility to the fixed charge scenario. AO3: 2 bod.



Some attempt to evaluate, but poorly expressed. Having given the candidate the benefit of the doubt on AO3, they don’t get it again. AO4: 1.



Total:
AO2: 2
AO3: 2
AO4: 1
=5�
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Confused here - not showing clear understanding of MU.



Not really clear enough for AO3 marks in terms of analysis of marginal utility



This is very doubtful
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Good use of perfectly inealstic demand here with diagram



Developed understanding of elasticity even though there is misunderstanding of the idea of a fixed rate.



Firther development of the elasticity argument, making the counterargument ‘good’ overall for AO4: 3�



Total is:
AO2: 2
AO3: 0
AO4: 3
=5�
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Some understanding here of the idea of diminishing marginal utility and the relationship between price and marginal utility.



Limited application to the case vie understanding of water metering, but badly expressed.



There’s enough here now for AO3: 1 - there has been a limited attempt to link utility theory to wtaer metering, so AO3: 1.





' Wnte the two dlgltquesflon , - ' ' ' : ' :Leavél‘
number inside the boxes next AHSWGF e s AP e Lt Ll blank

o the first line of your answer
o lamq/ﬂpwmmm(’ h; PETYY Vw(m ]@M _

N wes I’LMJM
I,L (e whibe il o5 A o fogd e M DU dag f

- Lon At i ”} nw/ holw | jf Moy LA A
WM e g5t VS vio unopk pl/ Wﬂﬂmff whlrh,
M e boins o oxess Qnot per bitreof i/’
fi:_fJ,oMUle/( ‘\’l,g;_(,muM reSult M kg md(mv\ww
% owaOM( A o wm/z/m( W”/’A‘I [} 1S most e,

2 wAder mphoﬂ L.,r L 4N fm’lwurvf unt (e /
| wnunue [as )'W""'\ can von e [ ZWuir wathk gnd
SRYVLL/S Ul 2 be od tow as pvsg:b&) ﬁor heese v
_w Wa/@/ weker (askfled | 'm houuko(df

= Aem~T
Ao — |
ACY- -~ O




Not relevant.



Further support for AO2 - understanding of the pricing context of water and AO3, use of MU theory. The AO3 is still too vague to be awarded ‘good’, however.



There is no attempt at a counterargument, so AO4 is 0.



Total is:
AO2: 2
AO3: 0
AO4: 1
= 3
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Answer all the questions.

Water Gets Competitive

The restructuring of the government-owned water industry in England and Wales in
preparation for its privatisation in 1989 was unique. It took the form of the establishment of
ten large, vertically-integrated regional companies each with monopoly power in the supply
and treatment of fresh and waste water in geographical regions based on water catchment
areas. These ten companies operated alongside several, smaller pre-existing water suppliers.
Companies such as Thames Water, United Utilities and Welsh Water collect water, process
it and then pipe it to homes and businesses. Water privatisation was controversial among
certain members of the public. There were loud objections to the idea of the private sector
taking over water supply and making profits from it. Some people’s fears expressed at the
time of privatisation have been well founded with water and sewerage bills in England and
Wales rising by 40 per cent in real terms since 1990. Water poverty, which is said to exist
when a household spends more than 3% of its income on water and sewerage charges, has
increased in the last 30 years. Many households in water poverty are on benefits which only
rise in line with inflation as measured by the Consumer Price Index (CPI).

Since privatisation there have been a number of mergers between water companies often
involving small water suppliers being taken over by one of the big ten. The Competition
and Markets Authority (CMA) and previous competition authorities have examined ten such
mergers between water companies since 1990. In 2015 the CMA cleared the merger between
South West Water and the much smaller Bournemouth Water further increasing the level of
concentration in the water supply industry. Many of the big water companies are now totally
or partially foreign owned.

Household customers pay for their water in one of two different ways. Either they have a
water meter (similar to those they have for gas and electricity) or they pay a fixed charge for
their water based upon the size of their home which means that their water bill is unrelated
to their water consumption. Many analysts believe that all homes should have a water meter
as it would prevent wasteful consumption of water. Charging for water by the use of a water
meter would make it possible for each litre of water consumed to be priced equal to marginal
cost although this would probably cause the water companies to make huge losses.

As water is supplied to households by regional monopolies, water prices are regulated by
Ofwat. For the five-year period 2015 — 2020 Ofwat has said that the average water and
sewerage bill, which in England and Wales was £396 in 2015, will be 5% lower by 2020.
However, the water companies are then allowed each year to add inflation to household bills
so water charges will still almost certainly rise. Price controls have been widely used by UK
regulators in the energy and telecommunications sectors in the past and were even given
support by Prime Minister Theresa May in the 2017 General Election campaign.

© WJEC CBAC Ltd. (A520U20-1)
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Average water prices in England and Wales by region

2015 2020 F(':‘;lea:l’g:’

National average bill £396 -5%
Anglian £431 £390

Dwr Cymru (Welsh Water) £440 £416 -5%
Northumbrian £388 £382 -1-5%
Severn Trent £333 £316 -5%
Southern £437 £403 -8%
South West £545 £506 —7%
Thames £370 £353 -5%
United Utilities £410 £398 -3%
Wessex £485 £442 -9%
Yorkshire £373 £361 -3%

In April 2017 the water supply industry in England was opened up to competition for
businesses but not for households. This meant that 1.2 million businesses, charities and
public sector organisations in England were no longer restricted to buying water services
from their regional monopoly. Instead, they could now shop around, renegotiate and find
the right deal for them. The retail part of selling water i.e. billing, payments handling, meter
reading and contract management will be competitive with business customers being able
to choose from a number of different companies. These ‘retail’ companies will buy the water
from the regional monopoly to sell on to their business customers. In effect this means that
regional water companies will now be less vertically integrated; at least when dealing with
their business customers.

However, it is quite possible that a future Labour Government may consider re-nationalising
the water companies even though they have made some capital investment which has
benefits beyond the water industry. In their 2017 General Election manifesto the Labour Party
pledged to re-nationalise the railways and the Royal Mail and to part re-nationalise Britain’s
energy industry. Most customers, households and businesses alike, just want a fair price and
improved service from their supplier whoever it is.

© WJEC CBAC Ltd. (A520U20-1) Turn over.
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(c) Using the concept of marginal utility, discuss the extent to which replacing a fixed charge
for water with water meters in a home will reduce water consumption. [8]

© WJEC CBAC Ltd. (A520U20-1)
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2 (a) (i) | Using the data and production possibility diagrams in each case, outline
the opportunity cost of Albania’s military bunker building programme:
In the short run. [4]
Band AO1 AO2
2 marks 2 marks
2 2 marks 2 marks
Good understanding. Good application.
Appropriately labelled PPF diagram is | Data is used convincingly to show the
used to show that making more effect of building bunkers, with
bunkers leads to less of something developed examples.
else.
1 1 mark 1 mark
Limited understanding. Limited application.
PPF diagram contains errors or is not | Data is used to a limited extent to
directly used. outline opportunity cost in this case.
0 0 marks 0 marks
Diagram does not show opportunity No valid application.
cost.

Indicative content:

AO1

Roads/apartments, etc

Bunkers (000)

Producing more bunkers (eg increase in bunkers from 10 to 20 thousand reduces roads from

‘8’ to ‘7).

AO2

Answer will develop issues such as:
The average bunker was said to cost as much as a two-room apartment
20 bunkers cost as much as constructing a kilometre of road.

The bunkers also occupied a lot of fertile agricultural land.

Also, resources could have been used for power plants, etc.

© WJEC CBAC Ltd.
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Good diagram that is used as part of the answer (slightly indirectly), so AO1: 2.



There is a clear exmaple used that is developed in terms of what was lost - this is good application so AO2: 2.



Total is:
AO1: 2
AO2: 2
4 overall
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The PPF has been drawn but it isn't used to show how an increase in bunkers has reduced the production of power projects, and so on.  There is some sense of understanding, so AO1: 1.



Sticky Note

The answer applies the case but is quite generic - there were lots of direct examples in the text that could have been used; therefore, this answer didn't reach the highest band.  AO2: 1.



Sticky Note

Overall, this answer is limited in terms of both the diagram and the contextualisation, making a total of AO1: 1 and AO2: 1 = 2 marks.
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The PPF diagram has appropriate axes, but the shift isn’t what is being looked for. The text is too generic for credit, but the combination of the two is worth 1 mark for limited understanding of PPFs and opportunity cost.�
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From dictatorship to the EU. The curious case of Albania

Albania was for many years one of the world’s
most mysterious countries located only a few miles
from Italy, but similar in some ways to modern
North Korea for its distrust of the outside world
and strict communist principles. Occupied by both
Italy and then Germany during the Second World
War, Albania underwent a communist revolution
in 1944 led by the eventual dictator Enver Hoxha.
Over the next 40 years Albania was dominated by
a state-run focus on heavy industry and a fear of
foreign invasion which led to the construction of
(according to some estimates) 750 000 defensive
military bunkers (bomb-proof shelters) which are
still dotted all over Albania.

This defence programme was a massive drain on Albania’'s economy, with the programme
diverting resources away from road construction and power projects that might have been
better at supporting Albania’s long run growth. The average bunker was said to cost as much
as a two-room apartment or 20 bunkers cost as much as constructing a kilometre of road.
The bunkers also occupied a lot of fertile agricultural land and around 100 people a year died
building them.

Following the collapse of communism in the early 1990s, Albania adopted democracy in
1992 and began an ambitious programme of liberalisation. However, Albania had to build
from a base in which 50% of the workforce were in state-controlled agriculture and another
25% in inefficient state-controlled heavy industry (such as mining and engineering) that
had never had to compete either domestically or on world markets. Many of these state
enterprises had ceased production in the early 1990s when communism collapsed. Albania
also had to contend with a mass emigration of skilled workers in 1990 to Greece and Italy.
The liberalisation programme involved exchange rate liberalisation, a commitment to avoiding
budget deficits, controls on the money supply and a large-scale privatisation programme in
housing, agriculture, transport and industry. After initial setbacks, Albania grew from the
poorest country in Europe in the early 1990s to middle-income status today (Source 1).

Source 1

Albanian GNI per capita, Purchasing power parity
(PPP), constant 2011 $
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Such has been Albania’s progress, that in June 2014 Albania was accepted as an official
candidate country for EU membership. Albania has been gradually becoming more
economically integrated with the EU since 1992, with tariff-free access for Albanian goods
granted in 2006, for example.

Formal talks on actual membership are likely to begin very soon and the prospect of these
talks has sparked criticism in British newspapers, which have pointed to widespread corruption
(Albania is 83rd/188 countries in the Transparency International Corruption Perceptions
Survey, around the same level as Brazil and China), a large organised crime sector and the
need for reform of the court system.

Supporters of future Albanian EU membership have argued that there have been significant
improvements in all of these areas (with Albania’s corruption perceptions rank having risen
from 113th in 2012) in recent years. It is also argued that Albania’s overall level of economic
development is very similar to that of Croatia, which joined the EU in 2013, (Source 2) and
that full EU membership will help Albania to make the jump to ‘very high’ levels of human
development, as measured by the United Nations’ Human Development Index (Source 3).

Source 2

Albania and Croatia, selected indicators (2016)

Indicator Albania Croatia
Life expectancy at birth 78 77.5
GNl/capita (PPP, 2011 $) 11379 20750
Death rate of children under age of 5 1.4% 0.43%
Adult literacy rate 97% 99%
Women in senior management/legislative roles 22.5% 24.8%
Inequality (Gini coefficient, O=total equality, 100=total inequality) 29 32.5
Internet users (% of population) 63% 70%
Access to clean water 84% 99.6%
Agriculture (%GDP) 23% 41%
Agriculture (% workforce) 41.8% 1.9%
Unemployment rate 14.3% 10.8%
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Source 3

Human Development Index 2016, selected countries

Very high

human
development

Norway UK Spain

Greece Croatia Turkey Albania

Source 4

China

Estimated productivity and wage levels, selected countries

Country

Productivity index
(Germany=100)

Hourly wage costs
(euros)

Germany

100

224

UK 79 16.5

Bulgaria 65 4.4

Romania 70 55

Slovakia 65 104

Albania 55 3.5 (estimated)

According to Edi Rama, Albania’s Prime Minister since 2013 (posting on Facebook):

“Not only does the EU have ideals and values that we aspire to, but the aspiration to join
the EU across the region has made the impossible possible. It is because of this aspiration
that we have changed our long history of wars and bloody conflicts, and entered a new era
of peace and cooperation. At present, we have only limited access to the EU’s market in
services, and no access for financial services; our banks cannot operate across Europe.
We are outside the EU’s customs union, meaning that we face costly red tape for exporting
businesses. Tariffs apply to some fruit and vegetables. And we do not have access to the
EU’s external trade deals. So when the EU lands a great trade deal, for example with South
Korea, we do not benefit.

[EU membership also means that] we will have to adopt EU laws in a range of areas, including
competition, intellectual, industrial and commercial property rights, government contracts,
standards and certification, financial services, maritime transport, company law, accounting,
consumer protection, data protection and health and safety at work. The list goes on. We are
willing to accept these conditions because we believe that, in partnership with the EU, we can
reform our country and in the process improve conditions for our citizens.”

© WJEC CBAC Ltd.
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(a) Using the data and production possibility diagrams in each case, outline the opportunity
cost of Albania’s military bunker building programme:

(i) inthe short run [4]
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2 (d) Using the information in the case study, discuss whether EU membership "will
help Albania to make the jump to ‘very high’ levels of human development”. [12]
Band AO2 AQO3 AO4
4 marks 4 marks 4 marks
3 4 marks 4 marks 4 marks
Excellent application. Excellent analysis. Excellent evaluation.
Context of Albanian EU | Very well-developed Very well-developed counter-
membership is used argument, explaining how | arguments that are clearly well
throughout, with a range | EU membership will help | linked to the concept of very
of quantitative and Albania to achieve very high levels of development.
qualitative data high levels of
developed. development. Top band candidates will make
a justified decision that is
Not just learned +/- of rooted in their answer.
EU.
2 2-3 marks 2-3 marks 2-3 marks
Good application. Good analysis. Good evaluation.
Data is used to an Well-developed chain of Well-developed chain of
extent but focuses reasoning, explaining how | reasoning on the other side of
either on quantitative or | EU membership will the debate that argues that EU
qualitative aspects of benefit Albania without a membership will not benefit
Albanian membership. good link back to very Albania, without a good link
high levels of back to very high levels of
Not just learned +/- of development. development.
EU.
1 1 mark 1 mark 1 mark
Limited application. Limited analysis. Limited evaluation.
Data is used to a limited | Some development of the | Some development of the other
extent — there is only benefits of EU side of the case, but the
superficial coverage on | membership. arguments are lacking depth,
only one side. probably just arguing that there
are disadvantages of EU
Not just learned +/- of membership.
EU.
0 0 marks 0 marks 0 marks
No valid application. No valid analysis. No valid evaluation.

Indicative content:

AO2 (AO3 and AO4 are embedded here as well)

Application can come from anywhere in the case (not learned advantages of EU
membership), but is likely to centre around:

Text on current situation:

Weak court system — could argue that this will undermine the benefits of EU membership or
that EU membership will force changes to be made allowing for corruption and organised
crime to be reduced. This will allow the benefits of economic growth to feed through to
ordinary citizens more directly, leading to better health education and income outcomes,
therefore improving the HDI. Corruption and organised crime may mean that any benefits

© WJEC CBAC Ltd.
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that EU membership does bring will not be well spread, therefore meaning that, even if
Albania develops economically, the health and education benefits will not follow, making it
harder to reach ‘very high’ levels of human development.

Edi Rama’s Facebook post:

Peace and cooperation. Will have obvious direct and indirect effects on human development,
indirect effects via I/FDI boosting economic growth, etc, therefore increasing GNI/capita.

Access to passporting for banks. Will boost GNI/capita.

Trade restrictions/red tape — tariffs on some fruit and vegetables. Once these are removed,
Albanian businesses will again be able to grow, again increasing GNl/capita.

Access to global markets via the EU. Ditto.

EU laws can cut both ways, damaging Albanian competitiveness and imposing business
costs, but also enshrining rights such as health and safety which can again impact on the
HDI.

Sources 3 and 4:
Albania is already quite close and is likely to hit 0.8 with or without EU membership.

Albanian productivity levels are quite weak, which might mean that they struggle, but they
are not much worse than Bulgaria and Slovakia and wage costs are much lower than
Slovakia in particular (although adopting EU rules may drive up labour costs).

AO3

Might take the AO2 points or other advantages of EU membership and then link them to
development.

Non-case specific points include:

Free movement of labour
EU structural funds
Payments into the EU
FDI flows, and so on

Allow any other plausible benefit but do not credit it as AO2!

AO4

The key here is to judge the extent to which EU membership is either necessary or sufficient
to give ‘very high’ human development.

In reality, this is pretty much inevitable (depending on the time frame), but it is hard to see
how, in reality, EU membership is likely to harm their chances. Bulgaria and Romania both
grew rapidly after EU membership in the mid-00s and this has led to material improvements
in economic development.

Evaluation might centre around the idea that improvements in the HDI and EU membership
are not really well correlated.
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Generic line of argument without much development - limited AO3.



Begins to use the case, so some AO2 here.



Reasonable use of the diagram to support the point, but could have had more depth - the reduced tariffs paid argument is asserted rather than explained.



Limited counter-argument here, but AO4 limited.
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More AO3, but still not that well developed.



This is a resonable counter-argument and the development takes the answer to teh bottom of AO4 - good.



More context has been used as part of the counter-argument - it’s not that well developed, but adds to AO2.�



This is EMU and, whilst this might eventually be an issue, this isn’t the argument that is being made here.
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Valid points, but not developed, so don’t really add anything.�
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OK, but doesn’t answer the question.�
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This is a very strong paragraph making a strong case for EU membership, embedded in the context - the application and analysis are blended together, making for good AO2 and 3.



This is a well-contextualised counter-argument - good use of source 4 and good link back to economic theory in the form of the infant industires argument.



Well developed argument supporting EU membership, but not very well contextualised. Nevertheless, the case has made very strongly given the time available and is worth excellent AO3.
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Another contextualised counterargument, contributing to AO4.



This is a coherent conclusion that is based on the theme of the answer, which carries it to the top of AO4. In places the case sould have been used a little more, but this is a very strong answer:
AO2: 3
AO3: 4
AO4: 4�










Write the two digit question : Lavs |
number inside the boxes next “ Answer : Sk TN :
to the first line of your answer ' : : '

P\ [ the pre M boote foe 00 [m“t@i oasss o the Ly s vierldt

'7 o Serdes, andl no wess fyr financie| o 'UZ;CW bonle (o0

not 0Pl Goress piope ol C}‘Cf (e O*A ade che Gyl (wsty
(JnioN - Wemnieg %@& &5l ] el tope for eﬂomw b nSintsses

\"mi [50 hae 1o aess © €0 Cﬁ@'y“\ de GJC(A So\meq

S, l{J,\c)\s o oot el J\&\J/ do nex L@/\o\({ \onser, ol

'\Lrﬁ § \Au\\ he CACT\()Q ; /YUoofM\ ,mm(}\ L) /l(l”’l."\ L“\D\
/ART

u\\m} ﬂur'\ Froe yrw"\éoL \/JV\WV\ yneaiy qb/ca ynomens, D{ (m\tﬂ\

O\N) [mw\y \f\f‘f‘ h CJV‘\A Iy /% Vamion o q/H\l)m,?_ 4/L\€\" locm\

Cranamle ,U}VBW@!'.

\L / f{ (R rwinie ( AN v lAy0f ¥
H fvevey } tht e 34 ‘t/,wu b +s Tl AN By ‘/@EW‘,OHJJMB 7
\/l\L(/,’AL L/\(Ll CO\ %LG\U CQS d ’[\5\{ , [/) i w\ bV\ he e 615 _U]m{/’ }uﬂ/ﬂ,
m N4 YU‘\ ‘{ Q\\\,nf W'{\bp p/’\‘)d\v\( V\q d 00}3 \}
/ D Aca-)
/ ) Ao~
Ao

EG6380718

7 i



The case is used but largely copied or barely paraphrased. This is limited AO2.



There is a limited argument here - it isn’t very well developed, but is low level analysis.



This is a counter-argument but, again. is not well-developed, hence limited AO4.



The answer is weak - the context isn’t really manipulated and the arguments are short and under-developed. Therefore the answer is limited in all 3 skills:
AO2: 1
AO3: 1
AO4: 1�
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From dictatorship to the EU. The curious case of Albania

Albania was for many years one of the world’s
most mysterious countries located only a few miles
from Italy, but similar in some ways to modern
North Korea for its distrust of the outside world
and strict communist principles. Occupied by both
Italy and then Germany during the Second World
War, Albania underwent a communist revolution
in 1944 led by the eventual dictator Enver Hoxha.
Over the next 40 years Albania was dominated by
a state-run focus on heavy industry and a fear of
foreign invasion which led to the construction of
(according to some estimates) 750 000 defensive
military bunkers (bomb-proof shelters) which are
still dotted all over Albania.

This defence programme was a massive drain on Albania’'s economy, with the programme
diverting resources away from road construction and power projects that might have been
better at supporting Albania’s long run growth. The average bunker was said to cost as much
as a two-room apartment or 20 bunkers cost as much as constructing a kilometre of road.
The bunkers also occupied a lot of fertile agricultural land and around 100 people a year died
building them.

Following the collapse of communism in the early 1990s, Albania adopted democracy in
1992 and began an ambitious programme of liberalisation. However, Albania had to build
from a base in which 50% of the workforce were in state-controlled agriculture and another
25% in inefficient state-controlled heavy industry (such as mining and engineering) that
had never had to compete either domestically or on world markets. Many of these state
enterprises had ceased production in the early 1990s when communism collapsed. Albania
also had to contend with a mass emigration of skilled workers in 1990 to Greece and Italy.
The liberalisation programme involved exchange rate liberalisation, a commitment to avoiding
budget deficits, controls on the money supply and a large-scale privatisation programme in
housing, agriculture, transport and industry. After initial setbacks, Albania grew from the
poorest country in Europe in the early 1990s to middle-income status today (Source 1).

Source 1

Albanian GNI per capita, Purchasing power parity
(PPP), constant 2011 $
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Such has been Albania’s progress, that in June 2014 Albania was accepted as an official
candidate country for EU membership. Albania has been gradually becoming more
economically integrated with the EU since 1992, with tariff-free access for Albanian goods
granted in 2006, for example.

Formal talks on actual membership are likely to begin very soon and the prospect of these
talks has sparked criticism in British newspapers, which have pointed to widespread corruption
(Albania is 83rd/188 countries in the Transparency International Corruption Perceptions
Survey, around the same level as Brazil and China), a large organised crime sector and the
need for reform of the court system.

Supporters of future Albanian EU membership have argued that there have been significant
improvements in all of these areas (with Albania’s corruption perceptions rank having risen
from 113th in 2012) in recent years. It is also argued that Albania’s overall level of economic
development is very similar to that of Croatia, which joined the EU in 2013, (Source 2) and
that full EU membership will help Albania to make the jump to ‘very high’ levels of human
development, as measured by the United Nations’ Human Development Index (Source 3).

Source 2

Albania and Croatia, selected indicators (2016)

Indicator Albania Croatia
Life expectancy at birth 78 77.5
GNl/capita (PPP, 2011 $) 11379 20750
Death rate of children under age of 5 1.4% 0.43%
Adult literacy rate 97% 99%
Women in senior management/legislative roles 22.5% 24.8%
Inequality (Gini coefficient, O=total equality, 100=total inequality) 29 32.5
Internet users (% of population) 63% 70%
Access to clean water 84% 99.6%
Agriculture (%GDP) 23% 41%
Agriculture (% workforce) 41.8% 1.9%
Unemployment rate 14.3% 10.8%
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Source 3

Human Development Index 2016, selected countries

Very high

human
development

Norway UK Spain

Greece Croatia Turkey Albania

Source 4

China

Estimated productivity and wage levels, selected countries

Country

Productivity index
(Germany=100)

Hourly wage costs
(euros)

Germany

100

224

UK 79 16.5

Bulgaria 65 4.4

Romania 70 55

Slovakia 65 104

Albania 55 3.5 (estimated)

According to Edi Rama, Albania’s Prime Minister since 2013 (posting on Facebook):

“Not only does the EU have ideals and values that we aspire to, but the aspiration to join
the EU across the region has made the impossible possible. It is because of this aspiration
that we have changed our long history of wars and bloody conflicts, and entered a new era
of peace and cooperation. At present, we have only limited access to the EU’s market in
services, and no access for financial services; our banks cannot operate across Europe.
We are outside the EU’s customs union, meaning that we face costly red tape for exporting
businesses. Tariffs apply to some fruit and vegetables. And we do not have access to the
EU’s external trade deals. So when the EU lands a great trade deal, for example with South
Korea, we do not benefit.

[EU membership also means that] we will have to adopt EU laws in a range of areas, including
competition, intellectual, industrial and commercial property rights, government contracts,
standards and certification, financial services, maritime transport, company law, accounting,
consumer protection, data protection and health and safety at work. The list goes on. We are
willing to accept these conditions because we believe that, in partnership with the EU, we can
reform our country and in the process improve conditions for our citizens.”
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(d) Using the information in the case study, discuss whether EU membership “will help
Albania to make the jump to ‘very high’ levels of human development”. (lines 45-46) [12]

END OF PAPER
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